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A £3 + B £4 = £7
B £4 + C £6 = £10 
£10 + £7 = £17  The total needs to be £14 so that means this answer is incorrect because the total of the numbers was £17
A £4 + B £3 = £7 
B £3 + C £7 = £10 
Present A is £4          Present B is £3 
Present C is £7
A + B = £7                      B + C = £10 
4 + 3 + 7 = £14 
This answer is correct
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Roman paid £14 for three presents.

For A and B he paid a total of £7.
For B and C he paid a total of £10,

How much did Roman paiy for each present?
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Roman Pai& £21 for three presents.

For A and B he paid a total of £10,
For B and C ke paid a total of £20.

How much did Roman paiy for cach present?

A B C
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Roman paid £14 for four presents.

For A and B he paid a total of £9.
For B and C he paid a total of £7.
For C and D he paid a total of £5.
How much did Roman pay for each present?

A B C D
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Roman paid £21 for five presemts.

For A and B he paid a total of £6.

For B and C he paid a total of £10.
For C and D ke paid a total of £7.
For D and E he paid a total of £9.

How much did Roman pay for cach present?




